
Powerslide Vi Cortex Men & Pure, 195mm Mounting
(Design might vary)

500119, black
Atop Disc A-B15

MYFIT
FATBOY medium Liner
Various Colors

940391, black
Buckle Receptor
940381, black
Fixation Screw M4, L = 6,0mm

940376/l/r, black
PS Classic buckle left/right
L = 18cm
940381, black
Fixation Screw M4, L = 6mm1

500026, black
Atop Lace Guide D-A06
940382, black
Fixation Screw M4, L = 7mm1

500059, black
Cuff Screw & Anti Rivets
fitting Vi Fitness Cuffs
Screw inside: 6,0mm / 6,5mm
Screw outside: 3,5mm / 6,5mm
Anti Rivet inside & outside

1 Measurement without Head
2 Measurement of complete Axle

500045 
Vi Steel Lace
136-43 = 100cm
500062/110
44-47 = 110cm

Wheels
max. 110mm
Bearings
608 Standard
Spacer
Ø 8mm, L = 10,25mm

Fixation Screw M4, L = 7mm1

Unity 1 pc. Alu Frame
- 255mm / 4x 110mm
- 195mm Mounting
- Mounting Screw 
Rear L = 15,5mm1

Front L = 17mm1

940303/l, black
HABS Brakepad (big)
940366
Fixation Screw 
M6, L = 13mm1

940361, silver
Long Double Axle
Ø 8mm, L = 50mm2, M6

940368, silver
Screw for Assembly of Brake
M5, L = 6mm1

940374, silver
Short Double Axle
Ø 8mm, L = 31mm2, M6


